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Question 1

________ is potassium deficit in the bloodstream.
Answer: https://biology-forums.com/index.php?topic=1916051

Question 2

The cardiac research pioneer whose work resulted in the law stating that Lead I + Lead III = Lead II is ________.
Answer: https://biology-forums.com/index.php?topic=1915626

Question 3

Pericardial fluid
• prevents backflow of blood from one chamber to the other.
• lubricates the electrical system of the heart.
• decreases friction of the pericardial layers as they rub against each other.
• circulates through the heart's chambers.
Answer: https://biology-forums.com/index.php?topic=1915446

Question 4

Which of the following is the correct sequence of blood flow through the peripheral circulation?
• Arteries—arterioles—capillaries—venules—veins
• Capillaries—arterioles and venules—arteries and veins
• Arteries—veins—vena cava—capillaries
• Veins—venules—capillaries—arterioles—arteries
Answer: https://biology-forums.com/index.php?topic=1915479

Question 5

Multifocal atrial tachycardia is the same rhythm as ________, but with a faster heart rate.
Answer: https://biology-forums.com/index.php?topic=1915847
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